

International Journal of Advanced Research in Science, Communication and Technology (IJARSCT)

Volume 2, Issue 1, November 2022

On Finding Integer Solutions to Non-homogeneous Ternary Cubic Equation

 $(x^{2} + y^{2}) - xy - k(x + y) + k^{2} = z^{3}$

S. Vidhyalakshmi¹ and M. A. Gopalan²

Assistant Professor, Department of Mathematics¹ Professor, Department of Mathematics² Shrimati Indira Gandhi College, Trichy, Tamil Nadu, India vidhyasigc@gmail.com¹ and mayilgopalan@gmail.com²

Abstract: This paper concerns with the problem of obtaining non-zero distinct integer solutions to the nonhomogeneous ternary cubic equation $(x^2 + y^2) - x y - k(x + y) + k^2 = z^3$. Different sets of integer solutions are illustrated.

Keywords: Non-Homogeneous Cubic, Ternary Cubic, Integer Solutions

I. INTRODUCTION

The Diophantine equations are rich in variety and offer an unlimited field for research [1-4]. In particular refer [5-13] for a few problems on ternary cubic equation with 3 unknowns. This paper concerns with yet another interesting ternary cubic diophantine equation with three variables given by $(x^2 + y^2) - xy - k(x + y) + k^2 = z^3$ for determining its infinitely many non-zero distinct integral solutions

II. METHOD OF ANALYSIS

The non-homogeneous ternary cubic equation under consideration is

$$(x^{2} + y^{2}) - xy - k(x + y) + k^{2} = z^{3} (1)$$

Introduction of the linear transformations

$$\mathbf{x} = \mathbf{u} + \mathbf{v}, \mathbf{y} = \mathbf{u} - \mathbf{v}, \mathbf{u} \neq \mathbf{v} \neq \mathbf{0}$$
(2)

in (1) leads to

 $U^2 + 3v^2 = z^3$ (3)

where U = u - k (4)

We solve (3) through different ways and using (2), one obtains different sets of

Integer solutions to (1).

Way 1:

It is observed that (3) is satisfied by

$$U = m(m^{2} + 3n^{2})\alpha^{3t}, v = n(m^{2} + 3n^{2})\alpha^{3t}, z = (m^{2} + 3n^{2})\alpha^{2t}$$
(5)

Substituting the value of U from (5) in (4),note that

$$u = m(m^2 + 3n^2)\alpha^{3t} + k$$

In view of (2), it is seen that

$$x = (m+n)(m^2 + 3n^2)\alpha^{3t} + k, y = (m-n)(m^2 + 3n^2)\alpha^{3t} + k$$
 (6)

Thus the values of x, y, z given by (6) and (5) represent the integer solutions to (1). Way 2:

Let $z = a^2 + 3b^2$ (7)

Substituting (7) in (3) and employing the method of factorization ,we have Copyright to IJARSCT DOI: 10.48175/568 www.ijarsct.co.in

490



International Journal of Advanced Research in Science, Communication and Technology (IJARSCT)

,

Volume 2, Issue 1, November 2022

$$U = a^{3} - 9ab^{2}, v = 3a^{2}b - 3b^{3}$$
 (8)

Using (8) in (4) and in view of (2) ,one has

$$x = a^{3} - 9ab^{2} + 3a^{2}b - 3b^{3} + k, y = a^{3} - 9ab^{2} - 3a^{2}b + 3b^{3} + k$$
(9)

Thus the values of x, y, z given by (9) and (7) represent the integer solutions to (1).

Way 3:

Rewrite (3) as

$$U^2 + 3v^2 = z^3 * 1 (10)$$

Consider 1 on the R.H.S. of (10) as

$$1 = \frac{(1 + i4\sqrt{3})(1 - i4\sqrt{3})}{49}$$
(11)

Following the analysis similar to Way2, and replacing a by 7A, b by 7B, the values of X, Y, Z satisfying (1) are given by

$$x = 7^{2}[5A^{3} - 45AB^{2} - 33A^{2}B + 33B^{3}] + k$$

$$y = 7^{2}[-3A^{3} + 27AB^{2} - 39A^{2}B + 39B^{3}] + k$$

$$z = 49(A^{2} + 3B^{2})$$

Note 1:

The integer 1 on the R.H.S. of (10) is also expressed as

$$1 = \frac{(3r^{2} - s^{2} + i\sqrt{3}2rs)(3r^{2} - s^{2} - i\sqrt{3}2rs)}{(3r^{2} + s^{2})^{2}}$$

$$1 = \frac{(1 + i\sqrt{3})(1 - i\sqrt{3})}{2^{2}},$$

$$1 = \frac{(11 + i5\sqrt{3})(11 - i5\sqrt{3})}{14^{2}}$$

Repeating the above process, different sets of solutions to (1) are obtained. Way 4:

Introduction of the linear transformations **T** T • * 7 * 7 T

$$U = X + 3T, v = X - T, z = 2w$$
 (12)

in (3) leads to

$$X^2 + 3T^2 = 2w^3$$
(13)

The choice

$$\mathbf{w} = \mathbf{X} \tag{14}$$

 $3T^2 = X^2(2X-1)$ gives

which is satisfied by

$$T = (2s-1)(6s^{2}-6s+2), X = 6s^{2}-6s+2$$
(15)

From (14), one has

www

$$w = 6s^2 - 6s + 2 \tag{16}$$

Substituting (15) ,(16) in (12) and employing (4) &(2) , the corresponding integer solutions to (1) are given by

$$x = 4s(6s^{2} - 6s + 2) + k, y = (8s - 4)(6s^{2} - 6s + 2) + k, z = 2(6s^{2} - 6s + 2)$$

Copyright to IJARSCT
www.ijarsct.co.in
DOI: 10.48175/568

IJARSCT



International Journal of Advanced Research in Science, Communication and Technology (IJARSCT)

Volume 2, Issue 1, November 2022

(17)

(19)

Note 2:

Instead of (12), if we consider the transformations as

$$U = X - 3T$$
, $v = X + T$, $z = 2w$

then , the corresponding integer solutions to (1) are given by

$$x = (4-4s)(6s^2-6s+2)+k, y = (4-8s)(6s^2-6s+2)+k, z = 2(6s^2-6s+2)$$

The choice w = X

.

in (13) gives

$$X^2 = T^2(2T-3)$$

which is satisfied by

$$T = (2s^{2} - 2s + 2), X = (2s^{2} - 2s + 2)(2s - 1)$$
(18)

From (17), one has

$$w = (2s^2 - 2s + 2)(2s - 1)$$

Substituting (18),(19) in (12) and employing (4) &(2), the corresponding integer solutions to (1) are given by

$$x = 4s(2s^{2} - 2s + 2) + k, y = 4(2s^{2} - 2s + 2) + k, z = 2(2s - 1)(2s^{2} - 2s + 2)$$

Note 3:

Instead of (12), if we consider the transformations as

U = X - 3T, v = X + T, z = 2w

then, the corresponding integer solutions to (1) are given by

$$x = (4s-4)(2s^{2}-2s+2) + k, y = -4(2s^{2}-2s+2) + k, z = (4s-2)(2s^{2}-2s+2)$$

III. CONCLUSION

An attempt has been made to obtain non-zero distinct integer solutions to the non-homogeneous cubic diophantine equation with three unknowns given by $(x^2 + y^2) - xy - k(x + y) + k^2 = z^3$. One may search for other sets of integer solutions to the considered equation as well as other choices of the third degree diophantine equations with multi-variables

REFERENCES

- [1]. Carmichael. R.D, The Theory of Numbers and Diophantine Analysis, Dover Publications, New York, 1959.
- [2]. Dickson.L.E., History of Theory of Numbers , Chelsea / publishing company, Vol.II, New York, 1952.
- [3]. Mordell.L.J., Diophantine Equations, Academic press, London, 1969.
- [4]. Telang.S.G. Number Theory ,Tata Mcgrow Hill Publishing company,Newdelhi.,1996.
- [5]. Gopalan.M.A., Vidhyalakshmi.S., Mallika.S., On the ternary non-homogeneous Cubic equation x³+y³-3(x+y)=2(3k²-2)z³ Impact journal of science and Technology, 2013, Vol.7., No.1, 41-45.
- [6]. Gopalan.M.A., Vidhyalakshmi.S., Mallika.S., Non-homogeneous cubic equation with three unknowns $3(x^2+y^2)-5xy+2(x+y)+4=27z^3$, International Journal of Engineering Science and Research Technelogy, 2014, Vol.3, No.12, 138-141.
- [7]. Anbuselvi.R ,Kannan.K., On Ternary cubic Diophantine equation 3(x²+y²)-5xy+x+y+1=15z³ International Journal of scientific Research,2016,Vol.5.,Issue.9.369-375.
- [8]. Vijayasankar.A.,Gopalan.M.A.,Krithika.V., On the ternary cubic Diophantine equation 2(x²+y²)-3xy=56z³., Worldwide Journal of Multidisciplinary Research and Development.2017, vol.3, Issue.11.6-9.
- [9]. Gopalan.M.A., Sharadhakumar., On the non-homogeneous Ternary cubic equation $3(x^2+y^2)-5xy+x+y+1=111z^3$., International Journal of Engineering and technology ., 2018, vol.4, issue.5, 105-107.

Copyright to IJARSCT www.ijarsct.co.in DOI: 10.48175/568

IJARSCT



International Journal of Advanced Research in Science, Communication and Technology (IJARSCT)

Volume 2, Issue 1, November 2022

- [10]. Gopalan.M.A., Sharadhakumar., On the non-homogeneous Ternary cubic equation $(x+y)^2 3xy=12z^3$, IJCESR, 2018, VOL.5., Issue. 1, 68-70.
- [11]. Dr.R.Anbuselvi., R.Nandhini., Observations on the ternary cubic Diophantine equation x²+y²-xy=52z³., International Journal of Scientific Development and Research ,2018, Vol. 3., Issue., 8.223-225.
- [12]. Gopalan.M.A., Vidhyalakshmi.S., Mallika.S., Integral solutions of x³+y³+z³=3xyz+14(x+y)w³., International Journal of Innovative Research and Review, 2014, vol.2., No.4, 18-22.
- [13]. Priyadharshini.T,Mallika.S, Observation on the cubic equation with four unknowns $x^2 + y^2 + (x + y)(x + y + 1) = zw^2$ Journal of Mathematics and Informatics,2017,Vol.10,57-65.